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Using Commutative Property Name:
Choose the number that correctly fillsin both blanks. Answers

1) 3+10= 2) 5+15=

10+ 3= 15+5= 1.

2.

3.
3 18+1= 4) 14+ 3=

1+18= 3+14= 4.

5.

5 19+1= 6) 2+1= °

1+19= 1+2= .

8.

) 11+3= 8 10+ 1= 9.
3+11= 1+10=

- - 10.

11.

9 8+10= 100 2+10= 12.
10+8= 10+ 2=

13.

14.
1) 17+2= 12) 18+2=
2+17= 2+18=
13 8+1= 14) 11+6=
1+8= 6+11=
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Using Commutative Property

Name:

Answer Key

Choose the number that correctly fillsin both blanks.

1)

3)

5)

7)

9)

11)

13)

3+10= 13
10+3= 13
18+1= 19
1+18= 19
19+1= 20
1+19= 20
11+3= 14
3+11= 14
8+10= 18
10+8= 18
17+2= 19
2+17= 19
8+1= 9

1+8= 9

2)

4)

6)

8)

10)

12)

14)

5+15= 20
15+5= 20
14+3= 17
3+14= 17
2+1= 3

1+2= 3

10+1= 11
1+10= 11
2+10= 12
10+2= 12
18+2= 20
2+18= 20
11+6= 17
6+11= 17

10.

11.

12.

13.

14.

Answers

13

20

19

17

20

3

14

11

18

12

19

20

9

17
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Using Commutative Property Name:
Choose the number that correctly fillsin both blanks. Answers
19 20 13 17 14 20
9 17 12 20 18 19 t
1) 3+10= 2) 5+15= 2.
10+ 3= 15+5=
3.
4.
3 18+1= 4 14+3=
1+18= 3+14= 5.
6.
5 19+ 1= 6) 2+1= "
1+19= 1+2= 8.
0.
) 11+3= 8 10+1= 10.
3+11= 1+10=
11.
12.
9 8+10= 100 2+10=
10+8= 10+2= e
14.
11) 174+ 2= 12) 18+2=
2+17= 2+18=
13) 8+1= 14) 11+6=
1+8= 6+11=
M odified 1-10 [93]86] 79[ 71]64]57] 50| 43]36] 29|

www.CommonCoreSheets.com

11-14

21

14




	Worksheet
	Worksheet
	Modified Worksheet

